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In each blank, put the symbol ( <,>, or = ) that will make the sentence true
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Simplify by combining like terms
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17. The expression 6x? represents the surface area of a cube with edges of length X .
Find the surface area of a cube with each edge length.

a. 3inches b. 1.5 meters
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18. The expression 495 + 007X models a household’s monthly long-distance charges, where

X represents the number of minutes of long-distance calls during the month. Find the monthly charges for
73 minutes.

Evaluate each expression for the given value of the variable
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-~ 32. The sides of a triangle are in the ratio 5: 12 : 13. What is the length of each side of the triangle if the

perimeter of the triangle is 15 inches? g;( A 5; dL 1 L &x
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33. The length of a rectangle is 5 cm greater than its width. The perimeter is 58 cm. Find the dmensnons of

the rectangle. C +w L, E—HJU
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3{44 [Tem
X‘;wo brothers are saving money to buy tickets to a concert. Their combined saving is $55. One brother
15 more than the other. How much has each brother saved?

Find the perimeter
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